State after Four Elimination Steps




Find Largest Entry in Pivot Column




Interchange Rows




Compute Multipliers / Scale Column




Eliminate Pivot Column by Subtracting

Rows /
/ Form Schur Complement with Row

One Modification




State after Five Elimination Steps




State after One Block Elimination Step




Goal after Next Block Elimination Step




Find Largest Entry in Pivot Column




Interchange Rows in Panel




Compute Multipliers / Scale Column




Within Panel, Eliminate Pivot Column by

Subtracting Rows / Row One

Modification




Find Largest Entry in Pivot Column




Interchange Rows in Panel




Compute Multipliers / Scale Column




In Panel, Row One Modification




Find Largest Entry in Pivot Column




Interchange Rows in Panel




Scale Column




Rank One Modification in Panel




Find Largest Entry in Pivot Column




Interchange Rows in Panel




Scale Pivot Column




How to Move the Block Step Forward?




How to Move the Block Step Forward?

[ L11,U11 U1o Ui3
Loy Loo,Uzo | A3
L33 L3> | A3z |

e Need to apply row interchanges to

Loy, Loo, Aoz and Az3

e Need to transform A,z into Usg

e Need to compute Schur complement
A3z



Interchange Rows in Second and T hird

Block Rows




How to Move the Block Step Forward?

I O 0 I| O |0 I O O
0| App | Aoz | = | 0|Lx |0 0| Upo | Ups
0| Azo A33_ _O L3> I__O 0 X
U
LopUzp = Ao,
LopUpz = Apz = Uzz = Loy Aoz
L3pUzp = Aszp
L3pUpz + X = Azz = X = Azz — L3pUos3

e Need to solve LyyUsz = Arz (PDTRSM)

e Need to compute Schur complement
A3z — L3>Urz (PDGEMM)




After Solve and Rank b Outer Product




